Page 1 of 5

XYMX6HC
Hehfeta aaer - 11, 2016-17
SUMMATIVE ASSESSMENT - 11, 2016-17

Ut / MATHEMATICS
el - X/ Class - X
fuifta ¥9=:3 hours Ifereman 31k : 90
Time Allowed: 3 hours Maximum Marks: 90
arar= fder
1. @t v arfvad €

2, TWYFTHAHSITHE TR A @usi o, &, a1 e § &l T &1 @WUe-37 § 4 T
2 8y 1 31k 1 &; @US-T H 6 Y37 & S8 Tcieh o 2 37k ©&; @US-9 § 10 93
& fo i v &% 3 3k ©; 791 @Ue-g 11 797 & fS0 Y & 4 3k € |

3. TH U 93 H i faehed T8l ¢ |

4. FHAFE FH FAN dfed T

General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

EUus-3{ / SECTION-A
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Question numbers 1 to 4 carry one mark each
p 1 98 A 910 Hife faes fae fgem aeietor x(x —4) + p=0 % qa Irafae |
Find the value of p for which the quadratic equation x(x —4) + p =0 has real roots.

Tk 1542 m st G, 15 m S+t fagst o 9 & 81 @e o1 yft § g 3@ e 1

A ladder of length 15+2 m reaches a window 15 m high. Find the inclination of the ladder
with the ground.

< U T W ek Y| ST W T S S % S i Wkl 1 RIS | 1
Two dice are rolled together. What is the probability of getting a doublet (i.e. same number
on both dice)

fog (3 m, 6) T (—4, 3n) F XWETE & HA-T95 (1, 2m—1) T n F1 TH I HITST 1
The mid-point of the line segment joining (3 m, 6) and (4, 3 n) is

(1, 2 m—1). Find the value of n.
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Question numbers 5 to 10 carry two marks each.

AP :7,13,19,25, ... % n al U TIT HITST |

Find the n" term of the AP : 7, 13, 19, 25, ...

g x= /3, T5¥Id THRT0T x2 4 kx — 6 = 0 T Tk B §, Tl k T M A HIFSIC |

If x= \/5 is a solution of a quadratic equation x2 4 kx—6=0, then find the value of k.

THh g & fag C W Gt T o9l W U1 ™ BA & dgH W WER fag P W fgew €1 afg
ZPCA =10° AZCBA %l | Jd IS |

The tangent at a point C of a circle and diameter BA when extended intersects at P such that
/PCA=10°. Find ZCBA.
9 cm TSITE 1 Teh TS WiTq G 38 <1 sRieR il # foreifsta fenforg |

Draw a line segment of length 9 cm and divide it in to two equal parts.

B
Teh I W PA IR B T T WETW € | Teh 311 T 1@ MQN I9 1 Q T W09 ¥l g1 afg pe=8
cm SRPM =5.5 cm &, T MQ ! TaE T HifeT |

PA and PB are tangents to a circle. MQN is another tangent touching the circle in Q. If PB=28cm and
PM =5.5cm, find length of MQ.
5541 36 cm 9T 99 & T BROEE H SFA%A 54w cm?2B | 3H FRURET % GG A9 St deE 9

fRfeT |

Area of a sector of a circle of radius 36 cm is 54 cm?. Find the length of the corresponding arc
of the sector.
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Question numbers 11 to 20 carry three marks each.

Ife AP 1 12 a1 U8 — 13 & 91 3H% U8 IR USi ol 9177 24 §, 1 39k USA 10 Ui 1 A1 A
I |

If 12 term of an AP is — 13 and the sum of its first four terms is 24, what is the sum of its first 10
terms ?

FHFET 20— 2= 6 ; X # 0% el A1 it |

X
Find the roots of the given equation : 2x — 2=6 ;x#20

X
531 6 cm el Teh o W TRT @S 1 Teh UE g Gy S W 60° % iU W SAARd B
3Tt T < sfifarea Sifsr

Draw a pair of tangents to a circle of radius 6 cm which are inclined to each other at an angle of 60°.
Justify your construction.
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The angle of elevation of the top of a hill from the foot of a tower is 60° and the angle of elevation of
the top of the tower from the foot of the hill is 30°. If the tower is 50 m high, find the height of the
hill.

15 frefeew 3
@)  Tfved e areft we %) wifaekda w1 § 2
(b) A 3 3l B it WifHehal 0.71 & T o181 7 8 1 WIfIehal =11 T |
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Answer the questions given below.

(@) What is the probability of a sure event?
(b) If the probability of having rain today is 0.71, what is the probability of not having rain
?

() What is the probability of getting a multiple of 7 when a die is rolled?

16 Tuniey Tk foigati A(L, 1), B(2, 3), C(3, 4) 3R D(2, 2) ¥ FFT ABCD Tsh IHIR Igds 71 3
Show that the points A(1, 1), B(2, 3), C(3, 4) and D(2, 2) form a parallelogram ABCD.

17 34 fag & facens 3 wifag, S faged (2, 3) 1R (5, 6) T S AT YERAUE i GHMAIRG S 3
gl

Find the coordinates of the point, which trisect the line segment joining the points (2, 3) and (5, 6).

18 Teh fEerd o1 aRUT 9167 SRR ®, fS9eht e 50 m 3R 9SSk 44 m ¥ 39! 14 cm 99 911 3
IEY ¥ el 1§, T U 15 km/h T A0 S S R a1 B R Wi ¥ 1 TR 999 o 9 & S
1 W 21 cm Sl S8 ST ?

A swimming pool in a school is cuboidal which is 50 m long and 44 m wide. It is connected
with a pipe of diameter 14 cm from where water is flowing into the pool at the rate of 15
km/h. In what time will the level of water in pool rise by 21 cm ?

19 5591 35 cm 3R F=1 197 75° el I % W 16 (5a%S i &T%hel H1d hifelu | 3

Find the area of the corresponding major sector of a circle of radius
35 cm and central angle 75°.

20 Tk HehY T 7o o fafers i o HUS ¥ I E | A T AT 913 m ST Toh SRR © 31K HW . 3
T {1 A I VR B 1 A STER H AW 105 m SR AewR 9 RSt 9 53 m ®, @
A wfT fF 3Tl 59 & fore framr-foran e ofR g0 &1 &1 Fuel M1 STawas © (Sheun
Fifsre fop faem o +iE stfafiea waer =& o) |
A circus tent is made up using two different coloured cloth material. Red coloured material is
used to make cylindrical part upto a height of 3 m and green coloured material to make
conical part above it. If the diameter of the base is 105 m and slant height of the conical part is

53 m, find the red coloured material and green coloured material required [Assuming no
stiching margins is required].

@ue-2 / SECTION-D
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Question numbers 21 to 31 carry four marks each.
21 THAPFI TSI UG, A9 TS HI 1§ TR A& 93 15 | R TR1 1 ANTHA 66 BT 2 4

In an AP, 6™ term is half the 4™ term, and the 3™ term is 15. How many terms are needed to give a
sum that is equal to 66 ?

22 T <1 3ehi &l T&AT < 3ik] 1 AT 18 | 3H G U 63 FeM W 3Heh 31ch Jae S0 § 7 Ge 4
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A two digit number is such that the product of its digits is 18. When 63 is subtracted from the
number, the digits interchange their places ? Find the number.

a, b 3 ¢ 1 HH A HIT STaifeh @A a, 7, b, 23 3 ¢ TH AP, H T

Find the value of a, b and ¢ such that the numbers a, 7, b, 23 and ¢ are in A.P.

Fg 0 9T I W Tk el p foig 79 <1 TRt @ 1p 3R T @i W ¥ fag wmifsw fF 2T =2
~£0PQ Tl

TP and TQ are two tangents drawn to a circle with centre O from an external point T. Prove that
ZPTQ=2 ZOPQ.
Teh GHIV st 1 To ifay, et o= (ol & ifafad) 4 cm 3R 3 cm daal & €1

Teh 1 e ot o1 hifery forgert yeid feu gu s o6t da ogemett w6t 1% THE
Draw a right triangle in which the sides (other than hypotenuse) are of lengths 4 cm and 3 cm. Then,

construct another triangle whose sides are 1 1 times the corresponding sides of the given triangle.

gt wIgM & R R 921 U =AfF 30° & a0 FIV W Th HIel! Yhe I 719 @l &, il
39 Ytk o Sk A a2 W feord foig @it 3R U UHEHH o 9 SR & Wi R ©: fiee 9, su
TS ST STITHT IV 60° T BIdT § | G2 T Tga B el gRI fordl ST el 999 J1d iy |

A man sitting on the top of a cliff observes a fishing trawler at an angle of depression of 30° which is
approaching the shore to the point immediately beneath the observer with a uniform speed. Six
minutes later, the angle of depression of the trawler is found to be 60°. Find the time taken by the
trawler to reach the shore.

qeeti1,2,3 ... 24,25 9 2Afwd 25 w1l 1 Tk fess 8§ T H 3T=s] TR 4 fafya o fean
T ® | Wb Ao 39 feos O W Tk 1S THhioran € | 390! Wifaehdl I1d SIfST foh i€ &t e

(A) EHETI (B)  UH A9 HE&AT |

(C) 68 fausa (D) 33R73A | fawsa g1

25 cards numbered 1, 2, 3, ......... , 24, 25 are put in a box and mixed thoroughly. One person
draws a card from the box. Find the probability that the number on the card is

(A)  even. (B) a prime.

(Q) divisible by 6. (D) divisible by 3 and 7 both.

et =rqyst ABCD % Y A(—8, 7), B(—4, —5), C(—1, —6) 3R D(4, 5) T A YT 1 AeA-folg
@ w1 31 qea-foigetl o1 Tk o ¥ THeRt Tk 9 Iy U HIfST 991 39 YR 9
GHIR TS Rl &HS 1A I |

The vertices of a quadrilateral ABCD are A(— 8, 7), B(—4, —5), C(—1, —6) and D(4, 5). Find the mid-
point of each side. Join the mid-points in order to get a parallelogram and find the area of the
parallelogram thus obtained.

ATE 10 cm 911 I o A Teh oFf el T E | THH 916, TH O i Yedsh ST ol SAH 71 H,
3T ol IR ARl ot AT 6t S B 1 A I

(a) o T EFHA

(b) @RI 3Tl I &FhRA

A square is inscribed in a circle with diameter 10 cm. Four semicircles are then constructed, outside it,
with their diameters on each side of the square. Find :

(a) Area of the square
(b) Area of the four semicircles
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A hollow cone is cut by a plane parallel to the base and upper part is removed to make a
Turkish Cap. If the curved surface area of the remainder is % of the curved surface area of

the whole cone, find the ratio of the line segments into which the cone’s height is divided by
the plane from which the cut is made.

31 S 7 T AR-TIR AT FAFT ek SHI SR ol WF o Th [S-1h oh &Y 6l Th 09 € o= 4
3T Tl 1 BT 16cm R 24cm & T91 S 6cm 1 39 o9 TS 1 9k TS1F &% I
FITC | THF 91, 399 30 AU IS H a1 3 & e am & | T oafeed & -9 g wefvia @1
g2
Aditya used a chart-paper and made a lamp-shade in the form of a frustum of a cone open at
both ends. The radii of its ends are 16cm and 24cm and its height is 6cm. Find the curved

surface area of the lamp-shade. He then fixed LED-light in the lamp-shade. What values of
Aditya are depicted here?
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